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Riddle Answers

1. A man is condemned to death. He is given the choice
of entering one of 3 rooms. The first room has a raging
fire, the second is full of assassins and the third is full
of lions who haven’t eaten for 3 years. Which room is
the safest to enter?

The third room. Lions who haven’t eaten for 3 years
are dead.

2. If your sock drawer has 6 black socks, 4 brown socks,
8 white socks and 2 tan socks, how many socks would
you have to pull out in the dark to be sure you had a
matching pair?

The answer is 5. There are only four colors, so five
socks guarantees that two will be the same color.

3. A beggar’s brother died but the man who died had
no brother. How could this be?
The beggar was his sister.

4. Samuel was out for a walk when it started to rain. He
did not have an umbrella and he wasn’t wearing a hat.
His clothes were soaked yet not a single hair on his
head got wet. How is this possible?

Samuel is bald.

5. The 22nd and 24th presidents of the United States
of America had the same parents but were not brothers.
How can this be possible?

They are the same man. Grover Cleveland served
two terms as president of the United States but the
terms were not consecutive.

6. How many 1 foot by 1 foot bricks would it take to
complete a building that’s 20 feet long on all four sides
and 20 feet high?

Only one; the last brick you put in will complete it.

7. The rungs of a 10 foot ladder attached to a ship are
1 foot apart. If the water is rising at the rate of one foot
an hour, how long will it take until the water covers the
entire ladder?

It will never cover the ladder; as the water rises so
will the floating ship.

8. What gets wetter and wetter the more it dries?
A towel.



